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Changes

Page 16, line 4: ''for large n" should read '‘for large k''. -
Page 31, line 5: '"Jacobian' mis-spelt.

Page 50, bottom line: ¥ should be lower case.

Page 51, eq. (3.52): The second x, should be boqufapcd.’ g
Page 56, line -3: Hlivhﬁlivﬂ%smmﬂdram Hltvhﬁlivﬂ%.

YM

Paoetsl 7 25l el s ; should read Yg.

Page 186, line 18: The first of the three equations (6.155) should read
Zh= T%(l - rT%cos 8) !

11e delietelithelfiinstigs

Page 235, line 16: (g/a(r‘))L+ should read (z;/a(q))L+ , i.e. Greek zeta.

Page 119, eq. (5.5): ¢t should read &.

eq. (5.6): Xy should read Xn'

&

Page 122, eq. (5.23): sinhX should read sithX. Also, (2 + J)2 should be J2.

Page 121;'éqfﬁfg.21)fW"ﬁﬁj)(x) should read 1) (x), i.e. Greek chi. =

kJ
Page 175, eq. (6.109), second term: EWdiv should read oV o

Gg“v
Page 199, eq. (6.206), first line, end: T(1) should read T(l).

div .

Gguv

Page 192, eq. (6.183): Unbalanced brackets. Insert | after en(12m2R 1).

Page 75, eq. (3.138), first line: ((is)—n/2 should be (is)_n/z.

1 T

Page 197, eq. (6.201), second line: '%T e3t2r should be >T iR

Page 197, eq. (6.202), line 4: 3DKTt"(t¥)2 should be 3DKrTt" (t7)2.
Page 185, eq. (6.150), second line: 6D - 30D should read 65.— SﬁD.

Page 186: Delete overall negative sign on right hand side of eq. (6.157).

Page 234, eq. (7.40), line 3: %%-bD should read g%-ﬁD.

Page 234, eq. (7.41), line 5: p should read T.

2 =9
Page 254 Neq. #([{7-43)" Tﬁ%@?z should read - TZ%@FZ .

H V. .

TPRY
Page 199, eq. (6.207), line 3: tht should read 2%t

Page 181, eq. (6.129), end: d"x should read d™x'.

Page 181, eq. (6.131) last line: g(x) should read g(x).

)



26. Page 11, eq. (2.8): uj should be (bold faced k).

27. Page 12, final cquation in scction o2
k? should be k,? (subscript zero).

efilkie® =97 =

28, BPage 24 g FR(Z291):
29. DPage 41: Reflerence to Hawking & Ellis should be to §2.8.
30. Page 58, para.2: "It follows from (3.34)" should rcad "It follows IGROIIES S0 .
The labels A and B on the figurc should be A=B and A=b—

31. Page 60, Eig. 7:
IS i e L VC v

| 1

32. Page 74, cq. (3.126): (-g)*(x) should be (-g(x))*.

The labels below "1im'' are incomplete. They should read:

RENERapER08 Shea A8
t'9 Xl', X2'> X3“‘5' t, X1, X2, X3

t”, Xl"’ .X?_”’ X3“'9 t, X1, X2, X3

(This is a double limit.)
345 FPagen09 SeqEm(d #3 5 ¢uv should be ¢;uv'




